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B. Tiling Dominoes
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void cons m odd

int 1 =2; i <n; 1 +=

ans[il[m] = ans[i - m| = ++cnt;
ans/n = ans|[n - = ++cnt;

int i = 2; 1 <=n - 4; i +=

ans[il[m - = ans[i + m - = ++cnt;

ans[il[m - = ans|i + m - = ++cnt;
ans|/n - m - = ans|n - m - = ++cnt;
ans|n - m - = ans|n - m - = ++cnt;
ans/n - m - = ans/n - m - = ++cnt;
ans/n - m - = ans|n - m - = ++cnt;
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C. Skating on Weiming Lake(O )
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O0000%$P$0 00O $C$SO 00O O $\overrightarrow{PC}$0 0O O O $F$,0 $PF$0 O O O O $\Gamma$

O0000%Q%$0 00 $\Gammasd O O

ans = P + (C - P).unit * (C.len(P) + R) * 0.5;
dcmp(ans.len(P), ans.len(Q)) <=
flag = true;
ansR = ans.len(P);
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$r=DP=DQ=DG,DG=R-r,DP+DG=R$,$0 f(D)=DP+DGO D0 D000 O0OOOOOD
0D_{1},D_{2},s.t\quad f(D_{i})=R$

Os$f(D)s0 000

OoosfD)s00og,oooosb {o00oO0)s,0000009%D_{i}$

Point E = (P + Q) * 0.5;

Vector vertical = (P - Q).unit().rotate();
// E.print();

// vertical.print();

double 1 = -4e€9, r = 4e9;

demp(l, r) == -
double a, b;
a = *1+r) /3, b=(L+2%*r)/ 3
Point A, B;

A = E + vertical * a, B = E + vertical * b;
dcmp(A.len(P) + A.len(C), B.len(P) + B.len(C >
1 = a;
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r =b;

double extremepoint = (L + r) / 2;
// Point X = E + vertical * extremepoint;
// X.print();
// printf("%.8lf\n", X.len(P) + X.len(C));
1 = extremepoint, r = 4e9;
demp(l, r) == -
double mid = (L + r) / 2;
Point A = E + vertical * mid;
dcmp(A.len(P) + A.len(C), R) >
r = mid;

1 = mid;
Point tmpans = E + vertical * ((L + r) / :

1 = -4e9, r = extremepoint;
decmp(l, r) == -
double mid = (L + r) / 2;
Point A = E + vertical * mid;
// A.print();
dcmp(A.len(P) + A.len(C), R) >
1 = mid;

r = mid;

ans = E + vertical * 1L+r) / ;
dcmp(ans.len(P), R) ==
ans = tmpans;
dcmp(tmpans.len(P), R) <= &&
dcmp(ans.len(P), tmpans.len(P)) <=
ans = tmpans;
ansR = ans.len(P);
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D. Travel to Qomolangma

E. Walking Around the Country
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Q .clear();
int i =1; i <=N; i++
indeg/i| == outdeg|i ;
int cnt = abs(outdeg/i|! - indegli]);

outdeg/i] > indeg|i
cnt--) Q .push back(i);

cnt--) Q[i].push back ;

oooobOoboobooboboo@E@uoubobnoo—-—>0booono)

void dfs(int u
vis[u| = true;
1Qul.empty
int v = Qlul.front();
Qlul.pop front();
dfs(v);

S.push(u);
by Hardict

F. A Simple Math Problem

od:

O0$(7+4\sqrt{3})~{n}$0 00O

ud:

$(7+4\sqrt{3}) " {n}=x+y\sqrt{3},(7-Asqrt{3}) " {n}=x-y\sqrt{3}$

$0<(7-4\sqrt{3})<1,0<(7-4\sqrt{3})"~{n} <1 \Rightarrow x,y\sqrt{3}0 0000000001
O x\in N~ {+},[y\sqrt{3}]=x-1,[(7+4\sqrt{3}) " {n}]=2x-1%

$O0Z(\sqrt{3})00D0DCODOOS
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G. Go! Go! Go!
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H. Reverse K-th Problem

. Stairs of Tetris
J. Pairs

K. Lying Island
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